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Floma BTV e | B2 | ame | o e | B | o [T e | B2 [T | B | M
; 100kN/mZ#8% % - ~ -|3mEEZS - - -| 100kN/ Mm% 2% - ~ -|3mEHERS ~ -
Zhst 1.00 | 000 ~ 461 57.46 | Ehst | 0.00 0.00 | 1.59 853 Zhilst 1.00 500 ~ 500 5746 | #nLlst | 500 ~ 5.00)| 1.59 853
2 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 ] 0.00 ~ 6.01 75.32 | #hist | 0.00 601|195 10.45 Zhst 100|500 ~ 750 75.32 | #hS | 500 ~ 7.50 | 1.95 10.45
3 100kN/mM#%#BZ5| 1.00 | 000 ~ 212| 13286 |3m&ERBZS -| 100kN/m# 2% | 1.00 | 1054 ~ 1891 132.86 |3mZFBZS ~
FhnLs 100|212 ~ 990 100.00| #nLlst | 0.00 9.90 | 2.56 12.61 Fhns 100|500 ~ 1054 100.00 | =nst | 5.00 ~ 1891 | 2.56 12.61
4 100kN/mM#%#BZ5| 1.00 | 000 ~ 159 12451 |3mERBZS -| 100kN/mi# 25 | 1.00 | 1096 ~ 1632| 124.31 |3mEEZD ~
Zhst 100|159 ~ 938 100.00| Fnilst | 0.00 9.38 | 2.564 13.60 Zhst 100|500 ~ 109 | 100.00| ThL4st | 500 ~ 1632|254 13.60
5 100kN/m%#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 597 74.75 | FhLst | 0.00 0.00| 1.66 889 Zhilst 1.00 500 ~ 690 74.75 | FhS | 500 ~ 6.90 | 1.66 889
P 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 561 70.01 | Zhist | 0.00 000|171 916 Zhst 100|500 ~ 620 70.01 | #hidst | 500 ~ 620 1.71 9.16
- 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 571 71.31 | #hist | 000 571 1.80 9.62 Zhst 100|500 ~ 640 71.31 | #hist | 500 ~ 6.40 | 1.80 9.62
g 100kN/mZ#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00)| 000 ~ 6.74 85.18 | #hist | 000 674|179 957 ZFh st 100|500 ~ 820 85.18 | #hist | 500 ~ 820|179 9.57
9 100kN/m%#8% % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00 | 000 ~ 541 67.55 | FnLlst | 0.00 541 | 1.74 9.30 Zhst 1.00 500 ~ 590 67.55 | Fnst | 500 ~ 590 1.74 9.30
0 100kN/mZ#82 % ~ -|3mEEZS -| 100kN/ Mm% %% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 526 65.69 | Tt | 000 0.00 | 1.59 852 Zhst 1.00 500 ~ 6.00 65.69 | Thist | 500 ~ 6.00 | 1.59 852
11 100kN/mZ#82 % ~ -|3mEEZS -| 100kN/ Mm% 2% ~ -|3mEHERS ~
Zhst 1.00) 000 ~ 467 58.20 | #nst | 0.00 0.00| 1.62 867 Zhist 1.00 500 ~ 5.00 5820 | #nLlst | 500 ~ 500 1.62 867
100kN/m%#8% % ~ ImEBZD 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#8% % ~ ImEBZD 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/m%#82 % ~ ImEBZ D 100kN/mMZ#8% % ~ ImEBRD ~
Zhst ~ Zhllst Zhst ~ Zhllst ~
100kN/mZ#82 % ~ ImEEZ S 100kN/mMZ#8% % ~ ImEBRD ~
Zh s ~ Znist Zh s ~ Zhn st ~
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